
Estimate CryoSat-2  time series at point i using:
7th-order polynomial 
3rd-order surface topography 
𝐻𝐻𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡 Seasonal term 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 

𝐻𝐻(𝑡𝑡𝑖𝑖) = 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝 + 𝐻𝐻𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡 + 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠,𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐

Add Seasonal term 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠,𝑖𝑖𝑖𝑖𝑖𝑖𝑖/𝑖𝑖𝑖𝑖𝑖𝑖𝑖 estimated from 
ICEsat and ICEsat-2 data

𝐻𝐻(𝑡𝑡𝑖𝑖) = 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝 + 𝐻𝐻𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡 + 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠,𝑖𝑖𝑖𝑖𝑖𝑖/𝑖𝑖𝑖𝑖𝑖𝑖𝑖 
 

Remove Seasonal term 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠,𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 estimated from 
CryoSat-2 data

𝐻𝐻(𝑡𝑡𝑖𝑖) = 𝐻𝐻(𝑡𝑡𝑖𝑖)𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝 + 𝐻𝐻𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡
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